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No. of Questions : 150
g} F1 Fea : 150

[ Full Marks : 450

[ Qe : 450

(i) Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question,

wERE T B g B B oW B YRS G 3 @) sis o 2\
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Time : 2 Hours ]
"9g : 2 g2 ]

Note :

(i) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

afy e dwftos IR I S & e yda &, @ Feem w8 R 9)

1. Sinhalese belongs to :

(1) Celtic (2) Dravidian
(3) Indo-Aryan (4) Tibeto-Burman
Rigeh fowa aFmla @ :
(1) Afew ) =fes
(3) AR AT (4) foredf-adl
2. Find out the isolating language :
(1) Turkish (2) Chinese (3) Hindi (4) Tamil
FANTIHS I 1A 8 7
M 3 @ o @ (@) affa

P.T.0.
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3.

Centum is a branch of :

(1) Dravidian (2) Tibeto-Burman
(3) Austro-Asiatic (4) Indo-European
S [t g ?

(1) wfas (2) Rzt

(3) aregr-yRrarfe® | (4) wrdY

Manipuri belongs to :
(1) Austro-Asiatic (2) Dravidian (3) Tibeto-Burman (4) Indo-Aryan

Hfogr e o § 2 |
(1) srguRmfes (2) =s (3) fa=eh-adt (4) IR Sy
Which language is Indo-Aryan ?

(1) Sinhalese (2) Santhali (3) Arabic (4) Kannada
H-H TRAG T B 7

(1) fezelt (2) el (3) 3ral (4) =18

Which one is an Austro-Asiatic language ?

(1) Arabic (2) Santhali

(3) Garo (4) Bodo

I R-wRrRR® W @ 2

(1) =& (2) Hareh

(3) TR (4) ¥

Swedish belongs to :

(1) Italic (2) Celtic

(3) Germanic (4) Slavic

wifey fowa emmia & ?

(1) serfem (2) @fces

(3) v 4) wfew

Kharia belongs to :

(1) Dravidian (2) Munda (3) Semitic (4) Baltic

(2)



10.

wfear feas srada & 2
(1) =fIs (2) qs1

Angami belongs to :

(1) ‘Tibeto-Burman

(3) Munda
T T oI & 7
(1) et

(3) Her

Lepcha is spokenin :
(1) Meghalaya

(3) Sikkim

oqeT HEl aiell Sl 8 7
(1) Harer™

(3 fufemw

1.

12.

13.

Find out the inflecting language :

(1) Tamil (2) Khasi

- Refee AT |or S @ 2
(1) df (2) @R

Kokborok is spoken in :

(1) Tripura

(3) Nagaland

BIBaRNS AT HEl qren it & 7

(1) fBg
(3) ArTIvS

(3) EM™

(2) Dravidian
(4) Semitic

(2) =fae
(4)

(2) Tripura
(4) Mizoram
@ By

4) Ry
(3) Arabic
(3) 3R

(2) Mizoram
(4) Assam

(2) freiRe
(4) 3|

Which one is not Indo-European language ?

{1) Russian

(3) French

(2) Greek
(4) Tibetan

11P/238/31

(4) sfees

{4) Chinese

@) I

P.T.O.
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14.

15.

16.

17.

18.

-1 ARy e e 2 7

(1) Eastern Hindi
(3) Rajasthani

(4)

(1) &0 ) M

(3 %4 (4) fa=h

Which language belongs to Indo-European ?

) Telugu (2) Russian (3) Khasi (4) Thai
B ARG AT g ?

(1) g7 (2) = (3) Ty (4) omg
Which is an Ardha-Magadhi language ?

(1) Oriya (2) Marathi (3) Avadhi (4) Sindhi
P-4 anfaref a2 ?

(1) SRy (2) W& (3) s 4) Rish
Arabic belongs to :

(1) Germanic (2) Semitic

(3) Iranian (4) Indo-European

st wor fws ewia 2 7

(1) wif® (2) |

3 = (4) TR

Eskimo languages are found in:

(1) Poland (2) Russia

(3) North America (4) France

TRy Hrurl wEt ol el & ?

(1) U (2) &=

(3) T FRFT (4) w9

Bundeli is a dialect of :

(2) Western Hindi
(4) Avadhi



19.

20.

21.

22,

23.
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el ey Qe & ?

(1) gdf o=y (2) ufgH 2=

(3) XTSRRI (4) R

Which one belongs to Middle Indo-Aryan ?

(1) Bengali (2) Pali (3) Hindi (4) Sanskrit
T YRAY JRI-7eT P-4t 8 ?

{1) srar (2) wfxr (3) fe=h (4) H&pa
Which language does not belong to Modern Indo-Aryan ?

(1) Lahnda (2) Konkani (3) Sanskrit (4) Assamese
DY ey sy R s & swrla T8 @ ?

(1) @&t (2) @ieh (3) (@) arafn
Which is a dialect of Eastern Hindi ?

(1) Avadhi (2) Braj Bhasha

(3) Magaht (4) Bundeli

-G gt 2= & S /AR & ?

(1) sl (2) &1 T

(3) W - (4) gaeh

Which language family /sub-family is not found in India ?

(1) Austric (2) Dravidian

(3) Afro-Asiatic (4) Indo-European

o1 91T yRar /Iu-9RaR wd § & arr e ?

(1) enfegm (2) wfes

(3) smm-tRrafes 4) wRd

Which language is not included in the VIIIth schedule of the Constitution of
India ?

(1) Konkani (2) Khasi
(3) Bodo (4) Dogri

(5) P.T.O.
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24,

25.

26.

27,

28.

HA- T WA wauE # anedt g § Wit FE R 7

(1) SiHon (2 @™

(3) I @) S

Urdu belongs to :

(1) Indo-Aryan (2) Iranian

(3) Austric {(4) Semitic

3 e amia 8 7

(1) e s (2) &=

(3) aRg® @) am

Name the script in which Russian is written :

(1) Roman (2) Latin

(3) Cyrillic (4) Semitic

) wrr B fofd @1 AW @ R ?

(1) ) A

(3) faRfers (4) ari

Which one belongsita:Gemitic ?

(1) Urdu - (2) Hebrew (3) Kashmiri

- Ay o @ ?

1) S§ (2) &g (3) s

Which is not a Tibeto-Burman language ?

(1) Mizo (2) Garo

(3) Nepali (4) Manipuri

FE- vy foeh-adt 78 2 ?

(1) fasi @) TR

(3) “areht (4) =g

Which one belongs to Dravidian ?

(1) Brahui (2) Mundari (3) Sinhalese
B gfds W 2 ?

(1) =g ?) g (3) Rizeh

(6)

(4) Persian

(4) w=HR

@) Ao

¢4) 3



29,

30.

31.

32.

33.

34.

35.

Which one is a pidgin language ?

(1) Bishnupriya  (2) Bhutia (3) Nagamese
FE-A1 o war 2 7

(1) fasfoar (2) wfea (3) TS
Which one has 'tone' ?

(1) Marathi (2) Punjabi (3) Maithili
fg wra § ar urar S g

(1) wh (2) TS (3) ARl
Which language uses syllabic writing system ?

(1) Greek (2) English (3) Japanese
DA AT amerRe o swomTer S @ ?

(1) e (2) st (3) <t
Name the script in which Eﬁglish in written :

(1) English (2) Latin (3) Roman
3rUl A &) Ay @y Ay T & 7

(1) oh (2) «ifes (3)

How many syllables are there in English word 'easy’ ?
SN 9 ‘easy’ (o) A fery ‘s & 7
1 4 (2 3 (3) 2

Identify the last/final sound in the English word 'cough':

(1) [h] (2) [gh]
@) [f] @ [pl
3 W= ‘cough’ H Sifom eafy Pt B 2

M [¥] (2) (7] 3) [F]

Which is nof a phoneme in English ?
3o # H-ar w@fm TE R ?
(1) /¢/ (2) /kh/ (3 /z/

(7)

11P/238/31

(4) Assamese

(4) rafaar

(4) Urdu

(4) 9%,

(4) Latin

@) o=

(4) Cyrillic

(4) FRfers

@ 1

(4 [¥]

4)/n/

P.T.O.
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36.

37.

38.

39.

40.

41.

The Cardinal vowel [u] is :

(1) Close - (2) Half close
(3) Half open (4) Open
AP WX [u] |8 ?

(1) ¥ (2) ot wgw
(3) st fager (4) g

Find out the open (low) front unrounded Cardinal vowel.
fager () — onr o wFe W) e & 7

() [e] (2) [a]

3 [i] 4) (o]

Which one is a ‘minimal pair’ in English ?

PH-HT TR o ¥ e R g ?

(1) but, put (2) big, sip

(3) man, net (4) meat, neat

English [ v]is:

(1). Voiceless labio-dental (2) Voiced labio-dental

(3) Voiceless plosive (4) Voiced plosive

AT [v] R B

(1) srEw Earay (2) =y gy

(3) sy e (4) Oy

English[h ]is: '

(1) plosive (2) affricate (3) fricative (4) semivowel
e [h] ®TE?

(1) st (2) woei-wErdt (3) ot (4) awfeR
English [ w] is : :

(1) plosive (2) affricate (3) fricative (4) semivowel
o [w]®TE?

(1) w9 (2) wY-Hod (3) werdt (4) arfwax

(8)



42.

43.

44,

45.

47.

48.
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English [y ] is not :

(1) nasal (2) voiced (3) velar (4) fricative
AUSh ] war T 2 ?

(1) TR (2) a9 (3 ®ag (4) wadi
English [ { ] is not :

(1) plosive (2) fricative (3) voiceless (4) labio-dental
FSH [f] 7 7 2 ?

(1) v (2) wedt - (3) oy (4) iz
.T'i;\e-fi'rst/ initial sound in English word 'church'is: .

(1) -affricate - () fricative (3) plosive (4) semivowel
I o ‘church' (@rd) ¥ wow =y w1 8 7

(1) wrehendt (2) Hast (3) wel (4) oriway

‘Which sound cannot begin a word in English ?

Bt ey ool weg @ s ¥ 9d o W) Y

(1) [h] 2 [n] @) [n] @) [r]
Hindi [gh] is :

(1) fricative (2) affricate (3) plosive. (4) lateral
Rt [gh](®) #m & ?

(1) endf (2) ret-erd (3) et (4) ¥

How mahy syllables are there in Hindi word 'rakt’ meaning 'blood’ ?
=< s < § fhae s § 7
(1) 2 2) 3 (3) 1 4) 4

What is the maximum number of consonants an English word can have at the
beginning ?
Rl iV e @ st 3 @it @Y WA siftreT Readt 8w @ ?
(1) 2 (2) 3 @) 4 4) 5
(9) P.T.O.



11P/238/31

49. Hindi[d"]is:

(1) Voiceless | (2) retroflex
(3) fricative (4) bilabial
fedi [dh] @) =T & ?
(1) oeny (2)
(3) et (4) fairy
50. The Urdusound [x]is:
(1) velar plosive (2) dental plosive
- (3) velar fricative {4) dental fricative
9§ @ [x] (@) w78 ?
(1) ®wag el (2) =9 et
(3) Hoy Heyt (4) I i

51. [g}or [§]is not:

(1) fricative (2) voiceless
(3) palatal (4) affricate
(5} (S TR

(1) Hodt (2) oEy

(3) ara™g (4) wel-wendt

52. Which one is a uvular plosive ?

FH- ey sfeiogay w8 7
1 ] (2) [dl 3) [K] (4) [gl

53. Find out the half open Cardinal vowel :
3f-fga MeE ) P 8 ?

(1) Ia] (2) [el (3 [e] 4 [l
54. [0]is:

(1) voiced fricative (2) slit fricative

(3) voiceless plosive (4) slit affricate

(10)



55.

56.

57.

58.

59.

60.

0] w28 7
(1) oy Fedt
(3) erEmy e

Which one is a low vowel ?
P A R E P

(1) [i]

(3) [=]

Which one is a central vowel ?
PIT-AT T WX & 7
(1) o] (2) [a]

Which one is nof a vowel ?
P WX TFE@ § ?
(1) [(E] (2} [~}

Find out the Secondary Cardinal vowel :

BT 70T Hgeh WR 2 7
(1) [A] (2) [el

Which one is not an active articulator ?

(1) soft palate

(3) lowerlip

-] FT i FROT TE © 7
(1) ®Wa arg

(3) MRS

Which is an active articulator ?
(1) hard palate

(3) teeth

HIH-91 3 AfsT Hor g ?

(1) fe g

(3) a

(11)

(2) BAD HEd!

(4) wa®d wazi-Hudt

(2) [o]
(4) [e]

3) [o]

3) 2]

@) fal

(2) upper teeth
(4) tonque

(2) &I 2Ry
(@) forgar

(2) lower lip

(4) nose

(2) RS
(4) M

(4) [e]

(4) [B]

(4) [u]

11P/238/31

P.T.O.
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61. Which is not a suprasegmental sound/feature ?

(1) accent (2) semivowel
(3) tone @) length
P11 AfrESeTE ftroror 78 & 2

(1) e (2) ;TR

(3) @ (4) |1

62, Which is a phoneme of English ?
BIF-T ol W g 7

(1) [n] (2) lghl (3) [ph] (4) (th]
63. Find out the voiced slit or inter-dental fricative :

AT 99 B I I=R-g dudf &g g v

(i) 18] (2) [0l 3) f] 4) vl

64. Which is a palatal sound ?
A i B © 7

(1) [s] (2) [k} & [ ) 1jl
65. Which is a voiced alveolar fricative ?

Y SATehy FEl B g ?

(1) [z] (2) {v] (3) [dl (4) (€]

66. Which is a diphthong ?
B TR a1 W /R B 7

(1) {0u] (2) [ce] (3) [=] 4 [o]
67. [kklisa:

(1) vowel (2) semivowel

(3) geminate (4) diphthong

FF [kk] @1 8 ?

(1) &R (2) R

(3) &g+ (4) HYR ¥R

(12)



68.

69.

70.

71.

72.

73.

Identify the palatal nasal sound :
Treley Ed Al S 8 7

(1) [n] (2) [m}

[jhlis:

(1) voiceless aspirated plosive
(3) voiced aspirated plosive
[jhi@ar & ?

(1) =Y HETHTOT <qet

(3) =Y HETUTOT TRt

(] is:

(1) alveolar trill

(3) alveolar fricative
1] 7 g ?

(1) ey st

(3) degelr e

[?]is:

(1) glottal plosive

(3) velar fricative

[2}=am g ?

(1) CRIF-TE W
(3) T e

[dz]is:

(1) plosive
[dz]zur 2 ?
(1) st

(2) affricate

(2) woE-audt

11P/238/31

(3) [m] 4) [n]

(2) voiceless aspirated fricative
(4) voiced aspirated fricative

(2) =Y HETOT !
(4) O T Hedl

(2) alveolar lateral

(4) alveolar plosive

(2) sTET wifdde
(4) TPy Rl

(2) glottal fricative
(4) velar plosive

(2) Wﬁ?ﬁf Hodi
(4) ®TT ol

(3) fricative (4) geminate

(3) st (4) &o-g ¥

Vowels, semivowels and nasal consonants are normally :

(1) syllabic
(3) voiced

(2) voiceless
(4) aspirated
P.T.O.
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74,

75.

76.

77.

78.

79.

80.

R, - aiR Afres o WMt 9T B 8 7
(1) smeaRe (2) =y
(3) =y (4) =TT

Which one is a nasalized vowel ?

DI AP €@ B °

(1) [i:] (2) u] (3) [4]
Which one is not an affricate ?

PE-AT WE-Ged FE T Y

(1) [ts] @) [pfl (3) [sh]

Which one is not a round vowel ?

P TG WR TR ?

(1) [U] (2} [o] 3) [ul

Voicing takes place at :

(1) tongue (2) vocal cords (3} hard palate
aIEROT BT wfher HEl Sl 8 7

(1) forgen (2) <R (@) P g
The transcription /6al/ repreents the English word :
(1) they (2} thou (3) thigh

/8al/  f&w S s & Fefdd w=ar g ?

L = (2) <18 (3) 9y

The transcription /kars/ represents the English word :

(1) course (2) curse (3) cars
[kars/ T&8 30N weg @7 Fefg xar 8 7
(1) = @ w4 (3) @ref

Which one is not a 'syllabic’ sound ?
HA- @i ameRe wfy 78 8 ?
(1) fu] (2) [w] (3) Hl

(14)

@) [A]
(4) [dz]

4) [el

(4) soft palate

(4) e Ty

(4) thee |

(4) &

(4) cures

(4) s

@) [o]



81.

82.

83.

84.

85.

86.
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[K] becomes [K*] due to the process of :

(1) nasalization (2) assimilation
(3) vocalization (4) palatalization
[K] f&w ufsbar & &Ror [KY] & e g ?

(1) =nfyedrereor (2) TR

(3) =Rl (4) arerBrERoT
Which is a free morpheme in English ?

FUST A P oI wod 7 7

(1) full (2) im—

3) -y (4) —ity

Which is a bound morpheme in English ?

St DT 9 wiow 7 ?
(1) —er (2) upon
(3) sea (4) rim

Which language has grammatical gender ?

(1) English (2) Urdu (3) Manipuri (4) Bengali
fa T & e fofr arar omar g ?

(1) sireh @) w4 @3) gy (4) e
Which language has three 'numbers' — Singular, dual and plural 7

(1) Hindi (2) English

(3) Sanskrit (4) Urdu

fbg 9mer § A9 T9 — vHeed, fgaeT ok g9 v W € ?

(1) f&=d (2) sah

(3) wepd (4) g

Dative is the case of :

(1) subject (2) indirect object

(3) direct object (4) predicate

(15) P.T.O.
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87.

88.

89.

90.

91.

TR HR$ fhas o wgar sxar 8 ?

(1) & /See (2) wiror A

(3) wE o (4) fem

Which one is a transitive verb in English ?

IO # - fbar W & 7

(1) run (2) ask (3) sleep (4) smile

The word-order in English is :

(1) Subject-Verb-Object (2) Subject-Object-Verb
(3) Verb-Subject-Object (4) Object-Subject-Verb
U H BIE-|T WeawHH AT Y&HH YR AT 8 7

(1) wai-frar-oe (2) Pal-H-fFar

(3) forar-awai-an 4) wH-TI-far

Which one belongs to the Satern branch of Indo-European ?

(1) Greek (2) Latin (3) Persian (4) French
IRIGY & FOH T S 9 B R 7

ORIED (2) lfes (3) R (4) wd
Which is not Prakrit ?

(1) Magadht (2) Magaht

(3) Maharastr1 (4) Ardha-Magadhi
BA-E wipa w1 FH 2 7

(1) wATTeR (2) WTEY

(3) wERIEY (4) SmiFTE

The official /’national language of Egypt is :

(1) Arabic (2) Persian

(3) Hebrew (4} Urdu

o & T /sy ey Be- § 7

(1) oy (2) wRA

() a1y @ =4

(16)



92,

93.

94.

95.

96.

Which is a compound word in English ?

(1) look after

(3) childhood

BT IS TR WHE 7 7
(1) TF R

(3) =TEcSES

(2) black shirt
(4) teapot

(2) =F uwe
4) € ufe

How many morphemes are there in English word 'beautifully’ ?

JFUSH ¥e5 beautifully (Frgen) # f&a wfim € 2

(1) 4 (2) 3

English words 'right' and 'write’ are :

(1) antonyms

(3) homonyms

3) 2

(2) verbs
(4) synonyms

U ¥R right R15e) 3R write (R73T) @1 € ?

(1) fagdiamets
(3) F=rie

(2)
(4) wAFRIE

English word 'stubborn’ and 'obstinate’ are :

(1) antonyms

(3) polysemous

U g wead R dtsafene ®r E 7

(1) Rorareis
(3) PRIF

English words 'above' and 'below’ are :

(1) antonyms

(3) polysemous

3Gl erew g’ AR e T F ?
(1) faudiarers

(3) sFedw

(17)

(2) homonyms

(4) synonyms

(2) =i
(4) |uIES

(2) homonyms
(4) synonyms

(2) fa=mels
(4) THHRIF

(4) 5

11P/238/31

P.T.O.
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97. Which sentence is ambiguous ?
P q i & 7
(1) Manu put the note on the door
(2) Gitanoticed a mistake
(3) Ramu saw some old men and women
(4) The phone is ringing

98. Sanskrit mata is pronounced as ma or m4a in many languages due to:

(1) Apocope (2) Syncope

(3) Aphesis (4) Epenthesis

W AT BT SRV H3 Al ¥ 9 wlbw & R W /| g g 7

(1) g @ (2) oA &

(3) anfe &g (4) afufarfa
98. Aphesisis loss of a vowel :

(1) Imitially (2) Mediaily

(3) Finally (4) Elsewhere

snfEeiy § WR w1 g Tl B B Y

(1} = | (2) 77 ®

3) 3 H (4) o=

100. The transposition of two sounds in a word is known as

{1) Metathesis (2) Assimilation
(3) Epenthesis (4) Umlaut
et wsg A st @ vear-fafeg 91 @ FEd 27
(1) fauda (2) FRHI
(3) sfufarf (1) afsgfa

101.  In Lnglish, the past form of the verb 'sing’ is realized as 'sang’ due to the
process of :

(1) Epenthesis (2) Ablaut
(3) Umlaut {4) Assimilation

(18)



102.

103.

104.

105.

11P/238/31

U R 'sing’ @1 w9 qadra # A 9fhm & SR ‘sang' & W@ ¥ 2

(1) afufAfafe (2) sragfa

(3) sffa (4) wfrzor
Sanskrit ugra has become ugga in Pali due to :

(1) Assimilation (2) Dissimilation
(3} Apocope {4) Simplification
H&pd 99 T § 97 fhw ufbar & wwor gan ?

(1) T (2) fassrmwor

(3) i A (4) Gl

The word lakh is pronounced in some languages as lak due to :
(1) Assimilation (2) Dissimilation
(3} Deaspiration (4) Apocope

T 1 SR Fg s A &9 9 & sRoT A gar § 7
(1) FHrawon (2) TawiEmRor

(3) ARTHTOTAT &Y (4) 3@ g

Sanskrit prakat is pronounced as pragat in many languages due to the process
of :

(1) Aspiration (2) Devoicing
(3) Voicing (4) Deaspiration
AP UPpe T IRV Ty 9w F 5 wfhar & SR wre BT R 7
(1) =TTy (2) STESERor
(3) TR (4) HRHTOTT F
Garm became garam due to the process of :

(1) Anaptyxis : (2) Prothesis

(3) Epenthesis (4) Assimilation
TH 5 dfdhan & BRI IR Fa 7

(1) wRwfe (2) sf=RRY
(3) fafafafa (4) AT

(19) P.T.O.
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106. Arabic madad is pronounced as madat in many languages due to the process

of :

(1) Assimilation (2) Dissimilation

(3) Devoicing (4) Deaspiration

IRl WgY @ ITRY b3 9l § {59 iy & HRe Ad gk g 2
(1) & (2) faudreuy

(3) ESHIoT (4) HEHVTET FY

107.  Where Sanskrit has [bt], English has :
oEl Wepd A [bb] s & 98 Sl o g s @ 7
(1) Ip] (2) [f] (3) [b] 1) [v]

108. Legible + ly becoming legibly in English is an example of :

{1} Assimilation (2) Haplology

(3) Metathesis 4) Apocope

U ¥ legible + 1y &7 legibly € @en fbw widvan o1 gaveve & 2
(1) AT (2) EIER Y

3y e (4) & @

1023 Which s a tatsama word in Hindi ?

(1) Thals (2; Patta
3} Krodh (4) Khet
2 ¥ S v g 8 7
{1y el {2) <
{3) PR (4) ¥
118, Which is a tadbhava word in Hindi 7
(1) & {23 shabda {3¥ svar (4) pran
T o ue ggue ¥ 7
(1) ot (2) Wz (3) == (4) wie



111.

112.

113.

114,

115.

Hindi kitab is borrowed from :
(1) Arabic

(3) Turkish

el frame 5 smar & oy 8 7
(1) ardl

(3) gt

Hindi battiis :

| (1) Tatsama

(3) Loanword

AT daT g 8 7
(1) deHH
(3) AT =

Hindi cabhi is a loan from :

{1} Arabic

(3) Portuguese

fowdt =Y e 9o & a8 7
(1) sy

(3) gere

Identify the Turkish loan in Hindi :
(1) kult (coolie)

(3) zamin

o ¥ 2=t # rTq g diE-ar w2
(1) A

(3) S

Hindi asman is a loan from :
{1) Arabic
(3) Turkish

(2)
(4)

2)
(4)
(2

(4)

2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

11P/238/31

French

Bengali

w4

T
Tadbhava
Native word

TV WIS

TPersian

Turkish

HRE
SRl

havi

kamiz

FHT

Persian

Portuguese

P.T.Q.
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116.

117.

118.

119.

o) s . f5e W W S & 7
(1) 3Ra

(3) gl

Identify the French loan in Hindi :
(1) kartts (Cartridge)

(3) bam (bomb)

o=t & e | dg wE Be-E g ?
(1) BrqE

(3) €=

Hindi rasid is a loan from :

(1) Arabic

(3) English

e g 5w wiwr / s 2 7
(1) 3=

(3) 3iUSH

Hindi cali is a loan from :

{1} Bengali

(3) Punjabi

o) =g frg Wy & A © 7
(1) e

(3) ooTre

Hindi upanyas is a loan from :

{1) Assamese

(3) Marathi

=8 Sum FH A9 T AR 8 7
(1) eratia

(3) #xIEt

(22}

(2) BN
(4) gereh

(2} lalten (lantern)
(4) kard (card)

(2) wrEeH
(4) &S

(2) French
(4) Dutch

(2) %5
(@) ==

(2) Assamese
(4) Marathi

(2) srafdan
(4) IS

(2) Bengali
(4) Bhojpuri

(2) Ten

) gl
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120. Which language family is not found in Europe ?

(1) Uralic (2) Basque (3) Indo-European (4) Dravidian
PG A-IRAR R F 7Y urr o @ ?
(1) sfer® (2) 9= (3) WRIE (4) =fIe
121. Which one is an intransitive verb in English ?
- G el # srehe € 7
(1) send (2) tell (3) show (4) run

122. Identify the adjective :
BT Weq fqgor & 2
(1) some (2) who
(3) thus (4) soon

123. Identify the adverb:
H-a1 v fFar-faRiyer € 7
(1) second (2) former
(3) alive (4) twice

124. Which language has postpositions 7

(1) Hindi (2) Khasi

(3) English (4) French

forsr amar & oot 9 9 € 7

1) f&=a (2) @l

(3) s (4) wa
125. The systematic variant of a phoneme is called :

(1) sound (2) allophone

(3) allomorph (4) toneme

frd w5 & Rfr= vv ®n $gad & °?

(1) st (2) SUEA

(3) SUEY (4) @M

(23) P.T.O.
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126.

127.

128.

129.

130.

131.

Identify the complex sentence :
- s areg 2 °?

(1) I went there and found himill.
3) Thls is the boy who helped me.

Identify the compound sentence :

DI-AT [T 9 © 7

(2) He goes there everyday.

(4) We arrived in time.

(1) On hearing of my misfortune, she ran to my help.

(2) John killed the dog.
(3) I know when he will come.

(4) Iam weak, but I can walk.

In English, [p] and [ph] are:

(1) separate phonemes

(3) allophones of different phonemes
3aaft # [p] ek [ph] @ar € ?

(1) SFerT-3rerT @i

(3) IR |H &) ITEA

Who authored 'AstadhyayT' ?

(1) Panini (2) Patafijali
‘TR B TAIPR B o ?
(1) urfo (2) udisifer

(2) allophones of the same phoneme

(4) allomorphs

(2) U & W & IuRE

4) Su=g
(3) Yaska (4) Katyayana
(3) "D (4) T

Assamese developed from which 'Apabhrarhsha’?

(1) Shauraseni (2) Magadhi
st fore armie @ sl g8 ?
(1) o= (2) ®rEN

(3) Maharastrl (4) Paishact

(3) ABRTEI (4) Y

The a in Prakrit/Pali Kamma has become 3 in Hindi Kam due to the process of :

(1) Aphesis
(3) Assimilation

(24)

(2) Dissimilation
(4) Compensatory lengthening



132.

133.

134.

135.

136.
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o /e S F & B s 9 o &9 ik & wwRor gan ?
(1) e (2) fwHie=or
(3) T (4) witnRE DEioR

The p in Sanskrit parashu became ph in Pali pharasu due to the process of :
(1) Assimilation (2) Aspiration (3) Deaspiration (4) Dissimilation
AP WY BT 9 uifet $¥g H B Ty wlhdn & FRoT gayr ?

(1) \HrHYor (2) HEWRH (3) srewsmofiavor  (4) fawfieeo
In English, the verbs be, have, do, may, will, etc. are all examples of :

(1} causative verbs (2) auxiliary verbs

(3) transitive verbs (4) main verbs

35T @Y be, have, do, may, will 3% fFar o7 & ?

(1) sRomei® foarg (2) wewE fbarg

(3) " foad @) = fparg

Identify the pronoun :

BA-FT FEIH ] P

(1) very (2) littie (3} the (4) so

Which one is a preposition in English ?
BT T Yl H gdwrt 7 ?
(1) this (2) own (3) around (4) nicely

Which one is a Germanic language ?

(1) Russian (2) Italian
(3) English (4) Spanish
PIFT-A TH S AN ] 7

(1) w8 (2) saTerdl
(3) U 4y

The official/national language of Iran is :

(1} Arabic (2) Turkish
(3) Iranian (4) Persian

(25) P.T.O.
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W D TADR /IS AT DA & 2
(1) ol @) g
(3) i @) orEl
138. Hebrew belongs to:
(1) Indo-European (2) Afro-Asiatic
(3) Tibeto-Burman (4) Austro-Asiatic
&g faa srmfa 2 °?
(1) “Rr (2) pI-yR¥raTea®
ORGESIEL] (4) smg-gRRrmfes
139. Khayt Boli/Standard Hindi developed from :
(1) Magadhi Apabhrarhsha (2) Paishachi Apabhrarnsha
(3) Shaurseni Apabhrarhsha (4) Ardha-Magadhi Apabhrarhsha
& el /e = fra armve Q faeRa g & 7
(1) AR (2) Y
(3) zRE (@) ort-mpTEd
140. Which one is not a postposition in Hindi ?
(1) ne (2) ye (3) se (4) ko
Bra-ar = § wewt @
(1) A (2) A G« 4) ®
141, Which is not an Austro-Asiatic language ?
(1) Santhalt (2) Kharia
(3) Khasi {4} Sindhi
®HA-41 SRg-yEnfes wmr F8 2 ?
(1) waredy (2) e
(3) @ (4) RN
142, Which is a dialect/variety of Rajasthani Hindi ?
(1) Maithili (2) Mewati
{3) Baghel: (4) Kannaujl

(26}



143.

144.

145.

146.
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FE- Iorem B B Sy /e & 7

(1) #foreft (2) warly

(3) e (4) FHN
Kannada is spoken mainly in :

(1) Andhra Pradesh (2) Arunachal Pradesh
{3) Karnataka (4) Kerala

T8 g $El arell Wl g ?

(1) = y2er (2) IrBUITAST wRT
(3) &AcH (4)
Korkani is spoken in the state of :

{1y Gujarat (2) Goa

(3} Manipur {4) Mizoram
Fe g e {9 9 ? |

(1) oS (2) W

(3) FOTQR (4) s

Which statement is not true of human language ?
(1) It is conventional

{2) Itis hereditary

(3) Itisacquired

(4} It keeps changing

TG AT & Hed § B SO e 78 8 7
(1) @8 IRYR® 2

(2) T AEP® B

(3) T® afShka = Jriy 2

(4) @8 gRadeia &

Which is not a level /branch of Linguistics ?
(1) Syntax (2) Mass Communication
(3) Semantics (4) Phonology

(27) P.T.O.
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147.

148.

149.

150.

B AL-faeT @ e 98T 7

(1) argafasr (2) TR

(3) At (4) watafasm /=g

A polyglot is a person who :

(1) Studies grammar (2) Studies linguistics

(3) Speaks only one language (4) Speaks many languages

(1) eEoT &7 STegaT SRl 8 (2) WIOfs W ST el ©
(3) Ri% y& 9 arerar 8 (4) & AT grer ¥

Which language has a subject-object-verb word order ?

(1) English {2) Khasi (3) Hindi (4} Arabic
% wor A eal-eA-Rrar sTe-w /9g-3E U ol 8 7

(1) siush (2) @R (3) =1 (4) SR
Which language does not have an alphabetic writing system ?

(1) Greek (2} English

{(3) Russian (4) Chinesc

forer v & fafy avirer-omaRa 7@ € 7

(1) & (2) U

(3) = @ A

The study of the structure of words is known as

(1) Phonology (2) Etymology

(3) Morphology {4) Lexicography

Y& B AN P AT B G PEd @ 7

(1) wRsT (2) R

(3) wufgm (4) wrefasT=

(28)



srwafefay & forg foder

& gRa®T & Yo RIS TR T SRA $ AR Yol W Badt et/ @rel Sior@rge 87 3 @ )

1.

10.

11.

12.
13.
14.

g gireT e @ 10 fiFe & o/er & 39 @ f& weua § o g Ao R ik e
we gel J8 2| JREFT SgTh U SN W) OSEa ol dand b8 PREe @ 3w

O qEATA ) g GRS UKt B o |

. T AT W frBIET e FARud @ SR, forar W wier &g Y gar BT Wy 3

T AR
SRS AT [ ar w21 g9 7 ar WIS g 7 @ fAga ¥/ guer gy T8
fear W 1 $9F GORGF FT & JodraT [HIT TR

. UA1 FFHAIE T OXICTA BT BHIE A FERLyS w99« FeiRa wm w

fored |

SHYH @ HYT g6 4% 09 | U7 sigae [aiRa v g ford ger Hi7 A9 g
@ TGT Y ] S8 -O16T HIq¥IF § TET HET-gRaBT FT HAIH TAT W HT TN
gfad vl w ford)

. 3o Yo ¥R U3 WR IEHHIH Gl WeA-YRTST e T AT W @y o 8) aor

TIH-YRG®T IR ShHIG TEAT AT 3o THo 3Ro U W &y wfaftet # sy &l
arafa 78 2

. 9o wlifteal & ®12 f aRadw s Mee gyl g=r oifRd e g we

sgfaa WA @ T W ST

. FEgRTST | U W @ OR dafaae SR [RA I ¥ 5w e @ defous duv @

ford syqes! Gere-gF @) WY Yiaa @ A Y 1 I & SOR-0F  FYH T8 I}
2 1 (e’ @ SR U W WeT B 84

LIE T B IR G foll B U € 99 DY TS Y US A A0S gl B TR FRA

OR AT Y gl PI AYCT R UR IE IER AT A SR |

& T & (& % W8T 1T Sf&a 9% gaol 781 w7 wear 8/ afs g faedt wee
& v 781 97 e B, a1 wreafua 9T @ wre R 1wl gal o @l vis
U gl WY WP 38 S

X B & ford 59 gROET B [UYS @ R e IO T AW @iel I% BT 4AT
& |

wiell & IWII $IA o FHo HRo TIe-ud & wdeqn va=1 ¥ AT N |

e AT BN F TR TR WA N e} o @ ARy e et

afe g oprell ufen A oy Wl @ WAt war ®, @ 98 fRAvaferem g Meifa
<8 BT /& 9rft 8/ Enh |
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